                                  Math 230 –Test #2                                      10/6/06
            Show all work. Make LARGE and neat diagrams and graphs when appropriate.
1.   A right triangle has a 300-foot hypotenuse and a 65-foot leg. To the nearest tenth of a degree, what are the sizes of its acute angles?

2.   Calculate the residual of P = (1.4,3.6) with respect to the line 
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3.   Two sides of a triangle are formed by the vectors 
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a)   Find the area of the triangle.


b)   Find the length of the longest altitude in the triangle.


c)   Find the size of the smallest angle.
4.   To the nearest tenth of a degree, find the size of the acute angle formed by the intersecting lines 
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5.   Rhombus PQRS has side lengths of 10 cm and the longer diagonal QS = 16 cm.  Mark F on RS, exactly 6 cm from S. Let T be the intersection of PF and QS.  


a)   Name the two similar triangles in this figure and their ratio of similarity. 


b)   Determine the lengths of TS and TQ.


c)   Determine the length of the other diagonal.


d)   Determine the area of the rhombus, and the distance between the parallel sides.

6.   Let A = (1,1), B = (4,0), and C = (2,−3).  Triangle A'B'C' is similar to ABC through a single dilation. If A' = (−11,10) and B' = (1,6), then determine the following. 


a)   The coordinates of C'.

b)   The center of the dilation and the magnitude of the dilation.


c)   The area of both triangles.
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